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Part - I (General Intelligence)

Directions : In question nos. 1 to 8, find the

missing number/ letters/ figure from the

given responses.

1. CFI, IKM, OPQ, ?

(A) UUU (B) UST

(C) VUS (D) TUV

2.
AB ZY DE WV GH

, , , , ,
C X F U I

?

(A) 
SR

Q
(B) 

TS

R

(C) 
ST

R
(D) 

RS

Q

3. 18, 25, 23, 30, ?

(A) 25 (B) 35

(C) 28 (D) 38

4. 8, 29, 113, 449, ?

(A) 673 (B) 984

(C) 1484 (D) 1793

5. 17, 14, 15, 12, 13,  ?  ?

(A) 10, 11 (B) 14, 11

(C) 11, 13 (D) 12, 15

6. A C F J O ?  B

(A) I (B) H

(C) U (D) D

7. BDF, ? , PRT, WYA

(A) GJK (B) HKL

(C) IKM (D) IJK

8. Question figures

Answer figures

(A) (B) (C) (D)

Directions : (Q. N. 9 - 24) . Select the one which

is different from the other three responses.

9. (A) Son (B) Niece

(C) Grandson (D) Granddaughter

10. (A) January (B) February

(C) July (D) December

11. (A) Intelligent (B) Precis

(C) Stupid (D) Comprehensive

12. (A) ZXVT (B) RPNL

(C) OMKI (D) HFDC

13. (A) MONJK (B) ACAZV

(C) GMRGS (D) METEI

14. (A) 19 (B) 25

(C) 16 (D) 49

15. (A) 26, 126 (B) 65, 513

(C) 10, 27 (D) 17, 65

16. (A) Maple (B) Beet

(C) Cane (D) Apple

17. (A) Connect (B) Bond

(C) Hook (D) Link

18. (A) CHM (B) FKP

(C) EIN (D) NSX

19. (A) DFGH (B) KMNO

(C) ABCD (D) RTUV

20. (A) EGJK (B) PQST

(C) IKMN (D) MOWX

21. (A) 432 (B) 583

(C) 693 (D) 671

22.

(A) (B) (C) (D)

23.

(A) (B) (C) (D)

24.

(A) (B) (C) (D)

Directions: In (Q. N. 25 - 31) select the related

letter/word/number/figure from the

given alternatives.

25. Yesterday : Tomorrow : : March : ?

(A) April (B) May

(C) January (D) June
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Part - I (rdZ'kfDr ijh{k.k)

funsZ'k % iz'u la[;k 1 ls 8 esa fuEu Js.kh esa yqIr la[;k@ v{kj@
vkÑfr fn, x, fodYiksa esa ls Kkr dhft,A

1. CFI, IKM, OPQ, ?

(A) UUU (B) UST

(C) VUS (D) TUV

2.
AB ZY DE WV GH

, , , , ,
C X F U I

?

(A) 
SR

Q
(B) 

TS

R

(C) 
ST

R
(D) 

RS

Q

3. 18, 25, 23, 30, ?

(A) 25 (B) 35

(C) 28 (D) 38

4. 8, 29, 113, 449, ?

(A) 673 (B) 984

(C) 1484 (D) 1793

5. 17, 14, 15, 12, 13,  ?  ?

(A) 10, 11 (B) 14, 11

(C) 11, 13 (D) 12, 15

6. A C F J O ?  B

(A) I (B) H

(C) U (D) D

7. BDF, ? , PRT, WYA

(A) GJK (B) HKL

(C) IKM (D) IJK

8. iz'u vkÑfr;k¡

mÙkj vkÑfr;k¡

(A) (B) (C) (D)

funsZ'k % (iz'u la[;k 9 ls 24) mls pqus tks vU; vU; rhu
fodYiksa ls fHkUu gSA

9. (A) iq=k (B) Hkrhth
(C) ikS=k (D) ikS=kh

10. (A) tuojh (B) iQjojh
(C) tqykbZ (D) fnlEcj

11. (A) cqf¼eku (B) la{ksi
(C) ew[kZ (D) O;kid

12. (A) ZXVT (B) RPNL

(C) OMKI (D) HFDC

13. (A) MONJK (B) ACAZV

(C) GMRGS (D) METEI

14. (A) 19 (B) 25

(C) 16 (D) 49

15. (A) 26, 126 (B) 65, 513

(C) 10, 27 (D) 17, 65

16. (A) f}iQy (esiy) (B) pqdanj
(C) xUuk (D) lsc

17. (A) tksM+uk (dUksDV) (B) cU/u
(C) dk¡Vk (D) dM+h

18. (A) CHM (B) FKP

(C) EIN (D) NSX

19. (A) DFGH (B) KMNO

(C) ABCD (D) RTUV

20. (A) EGJK (B) PQST

(C) IKMN (D) MOWX

21. (A) 432 (B) 583

(C) 693 (D) 671

22.

(A) (B) (C) (D)

23.

(A) (B) (C) (D)

24.

(A) (B) (C) (D)

funsZ'k % iz'u la- 25 ls 31 esa] fn, x, fodYiksa esa ls lEcaf/r
v{kj@'kCn@la[;k vkÑfr dks pqfu,A

25. xr dy : vkxkeh dy : : ekpZ : ?

(A) vizSy (B) ebZ
(C) tuojh (D) twu
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26. bifurcate : divide : : loathe : ?

(A) love (B) jealous

(C) detest (D) rude

27. BYDW: FUHS : : AZCX : ?

(A) EVGT (B) FVGT

(C) EGVT (D) FGVT

28. BIRD : WIRY : RAIN : ?

(A) YRIW (B) NIAR

(C) MRZI (D) QAIM

29. 7 : 17 : : ? : 50

(A) 23 (B) 26

(C) 124 (D) 126

30. 1648 : 1339 : : 2266 : ?

(A) 1234 (B) 2133

(C) 1442 (D) 1551

31. Questions Figures :

Answer Figures :

(A) (B) (C) (D)

32. Questions Figures :

Answer Figures :

(A) (B) (C) (D)

Directions: In question no. 33, which one of the

given responeses would be a meaningful

order of the following words?

33. 1. Type 2. Print 3. Open

4. Save 5. Close

(A) 3, 4, 1, 2, 5 (B) 3, 5, 4, 2, 1

(C) 3, 1, 4, 2, 5 (D) 3, 2, 1, 4, 5

34. Select the missing number from the given

alternatives.

3 7 5

4 2 ?

5 4 6

60 56 90

(A) 9 (B) 3

(C) 4 (D) 8

35. Hema was twice as old as Geeta 10 years

ago. How old is Geeta today if Hema will be

40 years old 10 years hence?

(A) 25 years (B) 20 years

(C) 15 years (D) 35 years

36. A is B's Sister. C is B's Mother. D is C's

Father. E is D's Mother. Then how is A

related to D ?

(A) Grandmother (B) Grandfather

(C) Daughter (D) Granddaughter

37. A tourist drives 10 km towards west and

turns to left and takes a drive of another 4

km. He then drives towards east another 4

km and then turns to his right and drives 5

km. Afterwards he turns to his left and

travels 6 km. In which direction is he from

the starting point?

(A) North (B) East

(C) West (D) South

38. Mohan travelled westward 5 kms, turned left

and travelled 3 kms, turned right and

travelled 9 kms. He then travelled north 3

kms. How far he is from the starting point?

(A) 5 kms (B) 3 kms

(C) 6 kms (D) 14 kms

39. If in a code language RUSTUM is written as

INWANZ and RASTOGI is written as

IXWAVJK, how would RUSSIA be written in

that code?

(A) INNWKJ (B) INNWKT

(C) INWWKX (D) INNWNX

40. If ROSE is coded as 6821, CHAIR is 73456

and PREACH is coded as 961473, then what

will be the code for SEARCH ?

(A) 246173 (B) 214673

(C) 214763 (D) 216473

Directions : (Q. N. 41) From among the given

alternatives select the one in which the

set of numbers is most like the set of

numbers given in the questions.

Given set- (12, 18, 27)

41. (A) 25, 27, 22 (B) 19, 28, 37

(C) 15, 27, 30 (D) 36, 40, 19
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26. f}'kk[ku : foHkktu : : fojfDr : ?

(A) izse (B) bZ";kZ

(C) v:fp (D) vf'k"V

27. BYDW: FUHS : : AZCX : ?

(A) EVGT (B) FVGT

(C) EGVT (D) FGVT

28. BIRD : WIRY : RAIN : ?

(A) YRIW (B) NIAR

(C) MRZI (D) QAIM

29. 7 : 17 : : ? : 50

(A) 23 (B) 26

(C) 124 (D) 126

30. 1648 : 1339 : : 2266 : ?

(A) 1234 (B) 2133

(C) 1442 (D) 1551

31. iz'u vkÑfr;k¡ :

mÙkj vkÑfr;k¡ :

(A) (B) (C) (D)

32. iz'u vkÑfr;k¡ :

mÙkj vkÑfr;k¡ :

(A) (B) (C) (D)

funsZ'k % iz'u la[;k 33 esa fuEu fodYiksa esa ls dkSu&lk fodYi
uhps fn, x, 'kCnksa dk lkFkZd Øe n'kkZ,xk\

33. 1. Vad.k 2. eqnz.k 3. [kksyuk (izkjEHk djuk)
4. lqjf{kr djuk 5. cUn djuk

(A) 3, 4, 1, 2, 5 (B) 3, 5, 4, 2, 1

(C) 3, 1, 4, 2, 5 (D) 3, 2, 1, 4, 5

34. fn, x, fodYiksa esa ls yqIr la[;k Kkr dhft,A

3 7 5

4 2 ?

5 4 6

60 56 90

(A) 9 (B) 3

(C) 4 (D) 8

35. nl o"kZ iwoZ gsek xhrk ls vk;q esa nqxuh cM+h FkhA ;fn vc ls
nl o"kZ ckn gsek dh vk;q 40 o"kZ gksxh rks vkt xhrk dh vk;q
D;k gS\

(A) 25 o"kZ (B) 20 o"kZ
(C) 15 o"kZ (D) 35 o"kZ

36. A, B dh cgu gSA C, B dh ekrk gSA D, C dk firk gSA E,

D dh ekrk gSA rks A ls D dk D;k laca/ gS\

(A) ukuh (B) ukuk
(C) iq=kh (D) èksorh

37. ,d i;ZVd if'pe dh vksj 10 fd-eh- liQj djrk gS vkSj
ck;sa ?kwedj 4 fd-eh- tkrk gSA fiQj iwoZ dh vksj 4 fd- eh-
dk liQj djrk gS vkSj nk;ha vksj ?kwedj 5 fd-eh- dk liQj
djrk gSA ckn esa vius ck;ha vksj ?kwedj 6 fd-eh- dh ;k=kk
djrk gSA og vius izkjafHkd LFkku ls fdl fn'kk esa gS\

(A) mÙkj (B) iwoZ
(C) if'pe (D) nf{k.k

38. eksgu us if'pe dh vksj 5 fd- eh- dh ;k=kk dh] ck;ha vksj
?kwe dj 3 fd- eh- dh ;k=kk dh] vkSj nk;ha vksj ?kwedj 9
fd- eh- dh ;k=kk dh A og fiQj mÙkj dh vksj 3 fd-eh- x;kA
og izkajfHkd LFkku ls fdruh nwj gS\

(A) 5 fd-eh- (B) 3 fd-eh-
(C) 6 fd-eh- (D) 14 fd-eh-

39. ;fn ,d dwV Hkk"kk esa RUSTUM fy[kk tkrk gS INWANZ

vkSj RASTOGI fy[kk tkrk gS  IXWAVJK rks ml dwV
Hkk"kk esa RUSSIA fdl izdkj fy[kk tk;sxk\

(A) INNWKJ (B) INNWKT

(C) INWWKX (D) INNWNX

40. ;fn ROSE dks 6821, CHAIR dks 73456 vkSj
PREACH dks 961473 dwVc¼ fd;k tkrk gS] rks
SEARCH dk dwV ladsr D;k gksxk ?

(A) 246173 (B) 214673

(C) 214763 (D) 216473

funsZ'k % (iz'u la- 41) fn;s x;s fodYiksa esa  ls ml lsV dks
pqfu, tks fn;s x;s lsV ds izk;% leku gSA

fn, x;s lsV - (12, 18, 27)

41. (A) 25, 27, 22 (B) 19, 28, 37

(C) 15, 27, 30 (D) 36, 40, 19
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Directions : (Q. N. 42 - 43) Four words are given.

Which one of them will appear third if

arranged in the dictionary order ?

42. (A) Gastritis (B) Gatecrash

(C) Gauntlet (D) Garrison

43. (A) Hick (B) Hide

(C) High (D) Hay

44. Which diagram represents the relationship

among female, mothers and doctros?

(A) (B) (C) (D)

45. Among the members of a club, some are lady

doctors. Indicate which diagram does not

imply this statement. (Note : M = Members;

F = Female and D = Doctors)

(A) (B) (C) (D)

46. Which one of the answer Figures shall

complete the given Question Figure?

Question Figure :

Answer Figures :

(A) (B) (C) (D)

47. In which Answer Figure is the Question

Figure ecmbedded?

Question Figure :

Answer Figures :

(A) (B) (C) (D)

48. P is the father of T. T is the daughter of M.

M is the daughter of K. What is P to K ?

(A) Father (B) Father-in-law

(C) Brother (D) Son-in-law

49. If 'PENCIL' is coded as ? @, = ; 7 and 'PAPER'

is coded as ? 9 ? @ 5 how will you code 'CLIP'?

(A) @ 7; 3 (B) @ ?; ?

(C) = 7 ? ; (D) = 7 ; ?

50. If J = 10, JASMINE = 71, then ESTIMATE = ?

(A) 71 (B) 82

(C) 92 (D) 91
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funsZ'k % (iz- la- 42 o 43) esa pkj 'kCn fn, x, gSaA buesa ls
dkSu lk 'kCn] 'kCndks'k esa rhljs LFkku ij vk,xk\

42. (A) Gastritis (B) Gatecrash

(C) Gauntlet (D) Garrison

43. (A) Hick (B) Hide

(C) High (D) Hay

44. uhps fn;s x;s vkjs[kksa esa dkSu&lk vkjs[k ukjh] ek¡ vkSj MkWDVj
ds chp lEcU/ dks n'kkZrk gS\

(A) (B) (C) (D)

45. ,d Dyc ds lnL;ksa esa dqN efgyk fpfdRlk gSaA rc fuEu
vkÑfr;ksa esa dkSu&lh ,slh gS] tks bl OÙkQO; dk leFkZu ugha
djrh gSA (;gk¡ : M = lnL; ; F = efgyk vkSj D =

fpfdRld)

(A) (B) (C) (D)

46. fdl mÙkj vkÑfr ls iz'u vkÑfr iwjh gksxh\

iz'u vkÑfr %

mÙkj vkÑfr %

(A) (B) (C) (D)

47. fuEufyf[kr esa ls fdl mÙkj vkÑfr esa iz'u vkÑfr fufgr
gS\

iz'u vkÑfr %

mÙkj vkÑfr;k¡ %

(A) (B) (C) (D)

48. P, T dk firk gSA T, M dh iq=kh gSA M, K dh iq=kh gSA P
dk K ls D;k laca/ gS\

(A) firk (B) llqj
(C) HkkbZ (D) nkekn

49. ;fn 'PENCIL' dks dwV Hkk"kk esa ? @, = ; 7 fy[kk tk, vkSj
'PAPER' dks  ? 9 ? @ 5 rks 'CLIP' ?

(A) @ 7; 3 (B) @ ?; ?

(C) = 7 ? ; (D) = 7 ; ?

50. ;fn J = 10, JASMINE = 71, rks ESTIMATE = ?

(A) 71 (B) 82

(C) 92 (D) 91
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Part - II (Arithmetic)

51. In the given figure PQRS is a trapazium in

which QR || PS then what will be the value

of  ? If PQ = QR

P
S

Q
R

T

=90º

20º
=

x

x
x

q

(A) 65º (B) 60º

(C) 70º (D) 75º

52. If ABC, ADCB, AE, is the bisector of

CAB. Find out AED.

40º

60º
A

B

C

D
E

(A) 60º (B) 70º

(C) 80º (D) 85º

53. A copper wire of length 36 m and diameter 2

mm is melted to form a sphere. The radius

of the sphere (in m) is

(A) 2.5 (B) 3

(C) 3.5 (D) 4

54. The ratio of the radii of two wheels is 3 : 4.

The ratio of their circumferences is

(A) 4 : 3 (B) 3 : 4

(C) 2 : 3 (D) 3 : 2

55. Find the ratio in which x-axis divides the

segment joining A(-3, -2) and B(4, -4).

(A) -1 : 2 (B) 1 : -2

(C) 1 : 2 (D) 2 : 1
56. In the given figure what will be the value of

AB = BC = CD = DE = EF = FG = GA. DAE ?

C
G

A
B F D

E

(A) 15º (B) 20º

(C) 30º (D) 25º

57. A sum of ̀  12, 000, deposited at compound

interest becomes double after 5 years. How

much will it be after 20 years.

(A) ̀  1,44,000 (B) ̀  1,20,000

(C) ̀  1,50,000 (D) ̀  1,92,000

58. The volume of right circular cylinder and that

of a sphere are equal and their radii are also

equal. If the height of the cylinder be h and

the diameter of the sphere is d, then which

of the following relations is correct?

(A) h = d (B) 2h = d

(C) 2h = 3d (D) 3h = 2d

59. The circumference of a circle is 100 cm.

The meassure of a side of the square in-

scribed in this circle is

(A) 25 2 cmπ (B) 
25 2

cm
π

(C) 50 2 cmπ (D) 
25 2

cm
π

60. The length of a side of an equilateral tri-

angle is 8 cm. The area of the region lying

between the circumicrcle and the incircle

of the triangle is (Use 
22

=
7

π )

(A) 
1

50
7

cm2 (B)  
2

50
7

cm2

(C)  
1

75
7

cm2 (D)  
2

75
7

cm2

61. Find 'a' if segment with end points (4, 3)

and (a, - 4) is bisected by the line

2x + 3y = 6.

(A) 5 (B) -5

(C) 10 (D) -10

62. If ⊗ is an operation such that

a ⊗ b = a + b when a > 0, b >0

a ⊗ b = 2 2a +b for all other values of a and

b. The value of 
8 (7-13)-(3 1)

(3-6) (9-5)

⊗ ⊗
⊗ is

(A) 1/5 (B) 4/5

(C) 6/5 (D) 2/5

63. A rational number between 1/2 and 3/5 is

(A) 2/5 (B) 4/7

(C) 2/3 (D) 1/3

64. If two numbers x and y are separately di-

vided by a number d, the remainders ob-

tained are 4375 and 2986 respectively. If

the sum of the numbers i.e. (x + y) is di-

vided by the same number d the remain-

der obtained is 2361. The value of number

d is

(A) 7361 (B) 5000

(C) 4000 (D) 2542

65. The smallest number, which when in-

creased by 5 is divisible by each of 24, 32,

36, and 54, is

(A) 869 (B) 859

(C) 4320 (D) 427
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Part -II (vadxf.kr)

51. fn, x, vkÑfr esa PQRS ,d leyEc prqHkqZt gS] ftlesa
QR || PS gS rks  dk eku fdruk gksxk tc PQ = QR

P
S

Q
R

T

=90º

20º
=

x

x
x

q

(A) 65º (B) 60º

(C) 70º (D) 75º

52. ABC esa] [kaM AD[kaM CB, AE, CAB dk dks.k
f}Hkktd Hkh gSA AED Kkr dhft,A

40º

60º
A

B

C

D
E

(A) 60º (B) 70º

(C) 80º (D) 85º

53. ,d rk¡cs ds rkj] ftldh yEckbZ 36 ehú rFkk O;kl 2 fe-eh-
gS] dks fi?kykdj ,d xksyk cuk;k x;k gSA xksys dk v¼ZO;kl
(lsehú esa) gSA
(A) 2.5 (B) 3

(C) 3.5 (D) 4

54. nks ifg;ksa dh f=kT;k,¡ 3 : 4 ds vuqikr esa gSaA mudh ifjf/;ksa
dk vuqikr gksxkA
(A) 4 : 3 (B) 3 : 4

(C) 2 : 3 (D) 3 : 2

55. A(-3, -2) rFkk B(4, -4) dks tksM+us okys js[kk&[k.M dks
x – v{k fdl vuqikr esa foHkkftr djrk gSA
(A) -1 : 2 (B) 1 : -2

(C) 1 : 2 (D) 2 : 1

56. nh x;h vkÑfr esa AB = BC = CD = DE = EF = FG

= GA A DAE dk yxHkx eku gksxk\

C
G

A
B F D

E

(A) 15º (B) 20º

(C) 30º (D) 25º

57. pØòf¼ C;kt ij tek dh x;h ̀  12, 000 dh /ujkf'k 5
o"kZ esa nqxquh gks tkrh gSA 20 o"kZ ds ckn ;g fdruh gks tk;sxh
(A) ̀  1,44,000 (B) ̀  1,20,000

(C) ̀  1,50,000 (D) ̀  1,92,000

58. ,d yEc òÙkh; csyu dk vk;ru ,d xksys ds vk;ru ds
cjkcj gS rFkk muds v¼ZO;kl Hkh cjkcj gSaA ;fn csyu dh

mQ¡pkbZ h rFkk xksys dk O;kl d gks] rks fuEufyf[kr esa ls dkSu
;k laca/ lgh gS\
(A) h = d (B) 2h = d

(C) 2h = 3d (D) 3h = 2d

59. ,d òÙk dh ifjf/ 100 lseh gSA bl òr ds vUroZxZ dh ,d
Hkqtk dh eki gksxhA

(A) 25 2 π lsehú (B) 
25 2

π
lsehú

(C) 50 2 π lsehú (D) 
2 5 2

π
lsehú

60. fdlh leckgq f=kHkqt dh ,d Hkqtk dh yEckbZ 8 lsehú gSA
bl f=kHkqt ds ifjòÙk rFkk vUroZ̀̀Ùk ds chp ds {ks=k dk

{ks=kiQy   gksxk  (
22

=
7

π yhft,)

(A) 
1

50
7

 lsehú2 (B)  
2

50
7
lsehú2

(C)  
1

75
7
lsehú2 (D)  

2
75

7
lsehú2

61. ;fn js[kk 2x + 3y = 6 ds }kjk foHkkftr gksus okys js[kk&[k.M
ftlds var foUnq esa (4, 3) vkSj (a, -4) gSA rks 'a' dk eku
Kkr dhft,A
(A) 5 (B) -5

(C) 10 (D) -10

62. ;fn ⊗  ,d ,slh lafØ;k gS rkfd
a ⊗ b = a + b tcfd a > 0, b >0

a ⊗ b = 2 2a +b ,a, b ds nwljs lHkh ekuksa ds fy, rks

8 (7-13)-(3 1)

(3-6) (9-5)

⊗ ⊗
⊗ dk eku gksxk

(A) 1/5 (B) 4/5

(C) 6/5 (D) 2/5

63. 1/2 rFkk 3/5 ds eè; ,d ifjes; la[;k gS
(A) 2/5 (B) 4/7

(C) 2/3 (D) 1/3

64. ;fn nks la[;kvksa x rFkk y dks fdlh la[;k d ls vyx&vyx
Hkkx fd;k tk,] rks 'ks"k Øe'k% 4375 rFkk 2986 izkIr gksrs
gSaA ;fn mu la[;kvksa ds ;ksx] vFkkZr~ (x + y ) dks mlh la[;k
d ls Hkkx fn;k tk,] rks 'ks"k 2361 izkIr gksrk gSA izkIr  d dk
eku gS
(A) 7361 (B) 5000

(C) 4000 (D) 2542

65. og lcls NksVh la[;k] ftlesa 5 tksM+us ij izkIr la[;k 24]
32] 36 rFkk 54 esa ls izR;sd ls foHkkftr gks tkrh gS] gS
(A) 869 (B) 859

(C) 4320 (D) 427
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66.
2 1 1

+ +
5+ 3 6- 3 6+ 5

 
 
 

 is equal to

(A) 2 6 (B) 2 5

(C) 2 3 (D) 0

67. An increase of 20% in the price of man-
goes enables a person to purchase 4 man-
goes less for ̀  40. The price of 15 mangoes
before increase was
(A) ̀  10 (B) ̀  15
(C) ̀  20 (D) ̀  25

68. What will be area of equilateral triangle
contructed inside the square of which one
side is equal to 'a' ?

A

B

C

D

(A) 
23 3

a
32

(B) 
23 a

16

(C) 
25 3 a

32
(D) 

25 3 a

64

69. In an examination 80% of the candidates
passed in English and 85% in Mathem-
atices; while 75% passed in both English
and Mathematics. if 45 candidates failed
in both these subjects, then the total num-
ber of candidates was
(A) 225 (B) 450
(C) 400 (D) 350

70. Vertex A of column AB is on the ground. The
mid point of AB is C. From point P angle of
BC is . If AP = n.AB then tan is –

(A) 2

n

2n +1
(B) 2

n

n –1

(C) 2

n

n +1
(D) 

2

2

n –1

n +1

71. The diamaeter of the base of a right circular

cone is 4 cm and its height 2 3 cm. The

slant height of the cone is
(A) 5 cm (B) 4 cm

(C) 2 3 cm (D) 3 cm

72. A dealer marks his goods 20% above their
cost price. He then allows some discount
on marked price so that he makes a profit
of 10%. The rate of discount is

(A) 
1

10 %
3

(B) 9
1

%
3

(C) 8
2

%
3

(D) 
1

8 %
3

73. When a shopkeeper gives 10% discount on

the list price of a toy, his gain is 20%. If he
had given a discount of 20%, his percentage
of gain would have been

(A) 6
2

3
(B) 8

1

3
(C) 10 (D) 15

74. A student scored 32% marks in science
subjects out of 300. How much should he
score in language papers out of 200 if he is
to get overall 46% marks?
(A) 72% (B) 67%
(C) 66% (D) 60%

75. The production in an industry is decreased
by 20% due to retirement of the senior em-
ployees. By what percent should the work-
ing hours be increased to restore the origi-
nal production?
(A) 18 (B) 20
(C) 22 (D) 25

76. Two trains of lengths 137 m and 163 m are
running with speeds of 42 km/hr and 48
km/hr respectively towards each other on
parallel tracks. In how many seconds will
they cross each other?
(A) 30 (B) 24
(C) 12 (D) 10

77. The speed of a boat in still water is 10km/
hr. It covers upstream a distance of 45 km
in 6 hours. The speed (in km/hr) of the
stream is
(A) 2.5 (B) 3
(C) 3.5 (D) 4

78. In how many years will the simple interest
on a sum of money be equal to the principal

at the rate of 
2

16 %
3

 pre annum ?

(A) 4 (B) 5
(C) 6 (D) 8

79. If x = ( )
1

- 
32 +1 the value of 

3

3

1
x -

x

 
 
 

is

(A) 0 (B) 2−

(C) -2 (D) 3 2

80. If p = 101, then the value of

23 p(p -3p+3)-1 is

(A) 100 (B) 101
(C) 102 (D) 1000

81. If a 127+2 and 127-2 , then ( )3 3a +b

is equal to
(A) 40 (B) 44
(C) 48 (D) 52

82. The positive square root of
[0.6×0.6×0.6 + 0.4 × 0.4 × 0.4 + 3 × 0.6 × 0.4]
is equal to
(A) 2.1736 (B) 1
(C) 0.21736 (D) 0.072
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66.
2 1 1

+ +
5+ 3 6- 3 6+ 5

 
 
 

 cjkcj gS

(A) 2 6 (B) 2 5

(C) 2 3 (D) 0

67. vkeksa ds ewY; esa 20% dh òf¼ gks tkus ls ,d O;fDr dks
` 40 esa 4 vke de feyrs gSaA òf¼ ls igys 15 vkeksa dk
ewY; FkkA
(A) ̀  10 (B) ̀  15

(C) ̀  20 (D) ̀  25

68. 'a' Hkqtk okys oxZ ds vUnj cus leckgq f=kHkqt dk {ks=kiQy
gksxk%

A

B

C

D

(A) 
23 3

a
32

(B) 
23 a

16

(C) 
25 3 a

32
(D) 

25 3 a

64

69. fdlh ijh{kk esa 80% mEehnokj vaxzsth esa rFkk 85% xf.kr
esa mÙkh.kZ gq, tcfd 75% vaxzsth rFkk xf.kr nksuksa fo"k;ksa esa
mÙkh.kZ gq,A ;fn 45 mEehnokj bu nksuksa fo"k;ksa esa vuqÙkh.kZ gq,
gksa] rks dqy fo|kfFkZ;ksa dh la[;k FkhA
(A) 225 (B) 450

(C) 400 (D) 350

70. ÅèokZ/j LrEHk AB dk 'kh"kZ A /jkry ij gSA rc AB dk
eè; fcUnq C gSA fcUnq P ls BC dk dks.k  gSA
;fn AP = n.AB, rc tan gS&

(A) 2

n

2n +1
(B) 2

n

n –1

(C) 2

n

n +1
(D) 

2

2

n –1

n +1

71. ,d yEc&òÙkh; 'kadq ds vk/kj dk O;kl 4 lsehú rFkk

mldh mQ¡pkbZ 2 3  lsehú gSA 'kadq dh fr;Zd mQ¡pkbZ gksxhA

(A) 5 lsehú (B) 4 lsehú

(C) 2 3 lsehú (D) 3 lsehú

72. dksbZ O;kikjh viuh oLrqvksa ds ewY; muds Ø; ewY; ls
20% vf/d vafdr djrk gSA rnqijkar og vafdr ewY; ij
dksbZ cV~Vk nsrk gS ftles mls 10% dk ykHk gksrk gSA fn,
tkus okys cV~Vs dh nj gS

(A) 
1

10 %
3

(B) 9
1

%
3

(C) 8
2

%
3

(D) 
1

8 %
3

73. fdlh f[kykSus ds vafdr ewY; ij 10% dk cV~Vk nsus ij mls
20% ykHk gksrk gSA vxj mlus 20% dk cV~Vk fn;k gksrk]
rks mldk ykHk izfr'kr fdruk gksrk gS\

(A) 
2

6
3

(B) 
1

8
3

(C) 10 (D) 15

74. fdlh fo|kFkhZ us foKku ds fo"k;ksa esa 300 esa ls 32» vad
vftZar fd,A og Hkk"kk ds 200 vad okys iz'u i=kks a esa fdrus vad
vftZr djs rkfd mlds dqy feykdj 46» vad gks tk,¡ \
(A) 72% (B) 67%

(C) 66% (D) 60%

75. ofj"B deZpkfj;ksa dh lsok&fuòfÙk ds dkj.k ,d m|ksx esa
mRiknu 20» de gks x;k gSA dk;Z djus ds ?kaVksa esa fdrus
izfr'kr dh ò̀̀f¼ djus ls vkjafHkd mRiknu iquLFkkZfir fd;k
tk ldsxk\
(A) 18 (B) 20

(C) 22 (D) 25

76. 137 ehú rFkk 163 ehú yEckbZ okyh nks jsyxkfM+;k¡ lekUrj
jsy iVfj;ksa ij ,d&nwljs dh vksj Øe'k% 42 fdehú@?kaú rFkk
48 fdehú@?kaú dh pky ls py jgh gSaA ,d&nwljs dks ikj
djus esa mUgsa fdrus lsd.M dk le; yxsxk\
(A) 30 (B) 24

(C) 12 (D) 10

77. 'kkUr ty esa ,d uko dh pky 10fdehú@?kaú gSA ;g /kjk
ds izfrdwy 6 ?kaVs esa 45 fdehú dh nwjh r; djrh gSA /kjk
dh pky (fdehú@?kaú esa) gS
(A) 2.5 (B) 3

(C) 3.5 (D) 4

78. 16
2

%
3

 okf"kZd nj ls fdrus o"kksZa esa fdlh /ujkf'k dk

lk/kj.k C;kt ml /ujkf'k ds cjkcj gksxk\
(A) 4 (B) 5

(C) 6 (D) 8

79. ;fn x = ( )
1

- 
32 +1  gks] rks 

3

3

1
x -

x

 
 
 

 dk eku gksxk

(A) 0 (B) 2−

(C) -2 (D) 3 2

80. ;fn p = 101, gks ] rks  3 p(p2-3p+3)-1 dk eku gksxkA
(A) 100 (B) 101

(C) 102 (D) 1000

81. ;fn a= 7+2 12 vkSj 7-2 12 gks] rks ( )3 3a +b

cjkcj gksxkA
(A) 40 (B) 44

(C) 48 (D) 52

82. [0.6 × 0.6 × 0.6 + 0.4 × 0.4 × 0.4 + 3 × 0.6 × 0.4] dk
/ukRed oxZewy gS
(A) 2.1736 (B) 1

(C) 0.21736 (D) 0.072
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83. If x = 
3

2
, then the value of

1 + x  + 1- x

1 + x 1- x

 
  − 

is

(A) 3− (B) -1

(C) 1 (D) 3
84. If 3x = 5y = 4z, then x : y : z is equal to

(A) 9 : 12 : 16 (B) 20 : 12 : 15
(C) 15 : 10 : 9 (D) 8 : 5 : 3

85. Find the area enclosed within the curve
|x|+|y|=1
(A) 1 sq. units (B) 2 sq. units
(C) 3 sq. units (D) 4 sq. units

86. The ratio of the number of boys and girls in
a school was 5 : 3. Some new boys and girls
were admitted to the school, in the ratio
5 : 7. At this, the total number of students
in the school became 1200, and the ratio of
boys to girls changed to 7 : 5. The number
of students in the school before new admis-
sions was

(A) 700 (B) 720
(C) 900 (D) 960

87. A mixture contains wine and water in the
ratio 3 : 2 and another mixture contains
them in the ratio 4 : 5. How many litres of
the latter must be mixed with 3 litres of
the former so that the resulting mixture may
contain equal quantities of wine and water?

(A) 
2

5
5

l (B)  
2

5
3

l

(C)  
1

4
2

l (D)  
3

3
4

l

88. ` 600 are divided anong A, B, C so that ̀  40
more than 2/5 of A's share, ̀  20 more than
more than 2/7  of B's share and ` 10 more
than 9/17 of C's share are all equal. A's
share is
(A) ̀ 180 (B) ̀ 160
(C) ̀ 150 (D) ̀ 140

89. Two parallel chords in a circle are 6 cm and
8 cm long and 1 cm apart. The length of the
radius of the circile is

(A) 8 cm (B) 7 cm
(C) 6 cm (D) 5 cm

90. The lengths of the sides of a triangle are
10 cm, 26 cm and 24 cm. The length of the
shortest altitude of the triangle is

(A) 
8

4
13

cm (B) 
3

9
13

cm

(C) 10 cm (D) 12 cm
91. If the length of the diameter of the base of

a right circular cone is 42 cm and its vol-
ume is 12936 cm3 , the length of its slant

height (in cm) will be (Use 
22

7
π = )

(A) 30.00 (B) 42.60

(C) 67.48 (D) 35.00

92. If x2  + y2 = 41, xy = 20, x > 0, y > 0, then the
average of x and y is

(A) 10 (B) 5

(C) 4.5 (D) 3.5

93. Four years ago, the average age of family
consisting of a father, mother and a son was
28 years. A daughter now joins the family,

and the average age of the family is 
1

24
2

 years

now. The present age of the daughter is

(A) 3 years (B) 2.5 years

(C) 2 years (D) 1 years

94. The nearest point on the line 3x – 4y = 25
from the origin is

(A) (–4, 5) (B) (3, –4)

(C) (3, 4) (D) (3, 5)

95. E is mid-point of side CD of a parallelogram
ABCD and BE intersects AC at O. Then the
value of AO : CO is

(A) 2 : 3 (B) 1 : 2

(C) 2 : 5 (D) 2 :1

96. The maximum value of sin4 
θ + cos4 

θ is

(A) 1 (B) 2

(C) 3 (D) 4

97. The value of

tan 10. tan 20....tan 880.tan 890 is

(A) 2 (B) 4

(C) 1 (D) 0

98. If 
secθ + tan θ

sec θ tan θ−
= 7 + 0 04 3, (0 < θ < 90 ), then

the value of sec θ + tan θ is

(A) 3 2− (B) 3 2+

(C) 2 3− (D) 2 3+
99. In a triangle ABC, side BC is produced to D.

Internal bisector of ∠ B and the bisector of

external ∠ ACD meet at E. If ∠ BEC = 400,

then the measure of ∠ BAC is

(A) 1400 (B) 1000

(C) 800 (D) 600

100. In the figure, D is the circumcentre of

ΔABC. If ∠ DAC = 500, ∠ DAB = 300 and

∠ DBC = x3, then x =

50

3
0

x
0

D

B

A C

(A) 10 (B) 20

(C) 30 (D) 50
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83. ;fn x = 
3

2
gks] rks 

1 + x  + 1- x

1 + x 1- x

 
  − 

dk eku gksxkA

(A) 3− (B) -1

(C) 1 (D) 3

84. ;fn 3x = 5y = 4z gks] rks x : y : z  cjkcj gksxk
(A) 9 : 12 : 16 (B) 20 : 12 : 15

(C) 15 : 10 : 9 (D) 8 : 5 : 3

85. oØ |x|+|y|=1 ls layXu {ks=kiQy Kkr dhft,A
(A) 1 oxZ bdkbZ (B) 2 oxZ bdkbZ
(C) 3 oxZ bdkbZ (D) 4 oxZ bdkbZ

86. fdlh fo|ky; esa yM+dksa rFkk yM+fd;ksa dh la[;kvksa esa 5 % 3
dk vuqikr FkkA 5 : 7 ds vuqikr esa dqN u;s yM+ds rFkk
yM+fd;k¡ fo|ky; esa HkrhZ fd;s x,A blls fo|ky; esa
fo|kfFkZ;ksa dh dqy la[;k 1200 gks x;h rFkk yM+dksa rFkk
yM+fd;ksa dh la[;kvksa dk vuqikr 7 : 5 esa ifjofrZr gks x;kA
u;h HkrhZ ls igys fo|ky; esa fo|kfFkZ;ksa dh la[;k FkhA
(A) 700 (B) 720

(C) 900 (D) 960

87. fdlh feJ.k esa 'kjkc rFkk ikuh 3 : 2 ds vuqikr esa rFkk ,d
vU; feJ.k esa ;s 4 : 5 ds vuqikr esa gSA ckn okys feJ.k
dh fdruh ek=kk igys okys feJ.k dh 3 yhVj ek=kk ds lkFk
feyk;h tk, rkfd ifj.kkeh feJ.k esa 'kjkc rFkk ikuh cjkcj
ek=kk esa gks tk,¡ \

(A) 
2

5
5
 yhVj (B)  

3

2
5 yhVj

(C)  
1

4
2

yhVj (D)  
3

3
4

yhVj

88. ` 600 dks A, B rFkk C  esa bl izdkj foHkDr fd;k x;k gS
fd A ds Hkkx ds 2/5 ls ̀  40 vf/d] B ds Hkkx ds 2/

7 ls    ̀  20 vf/d rFkk C  ds Hkkx ds 9/17 ls ` 10
vf/d lHkh cjkcj gSaA A dk Hkkx gS
(A) ̀ 180 (B) ̀ 160

(C) ̀ 150 (D) ̀ 140

89. ,d òÙk dh nks lekUrj thokvksa dh yEckb;k¡ 6 lsehú rFkk
8 lsehú gS vkSj muds chp dh nwjh 1 lsehú gSA òÙk ds
v/ZO;kl dh yEckbZ gksxhA
(A) 8 lsehú (B) 7 lsehú
(C) 6 lsehú (D) 5 lsehú

90. ,d f=kHkqt dh Hkqtkvksa dh yEckb;k¡ 10 lsehú] 26 lsehú
rFkk 24 lsehú gSaA f=kHkqt ds lcls NksVs 'kh"kZyEc dh yEckbZ
gksxhA

(A) 
8

4
13

lsehú (B) 
3

9
13

lsehú

(C) 10 lsehú (D) 12 lsehú
91. ;fn ,d yEcòÙkh; 'kadq ds vk/kj ds O;kl dh yEckbZ 42

lsehú rFkk bldk vk;ru 12936 lsehú3 gks] rks bldh

fr;Zd mQ¡pkbZ dks yEckbZ (lsehú esa) gksxh] (
22

=
7

π iz;ksx

dhft, )

(A) 30.00 (B) 42.60
(C) 67.48 (D) 35.00

92. ;fn x2  + y2 = 41 rFkk xy = 20 gks] tcfd x > 0, y >

0 rks x rFkk y dk vkSlr gksxkA
(A) 10 (B) 10

(C) 4.5 (D) 3.5

93. 4 o"kZ iwoZ ,d ifjokj] ftlesa ,d firk] ,d ekrk rFkk ,d
csVk lfEefyr gks] dh vkSlr vk;q 28 o"kZ FkhA vc ifjokj
esa ,d csVh Hkh lfEefyr gks xbZ rFkk ml le; ifjokj dh

vkSlr vk;q 
1

24
2

 o"kZ gSA csVh dh orZeku vk;q gS

(A) 3 o"kZ (B) 2.5 o"kZ
(C) 2 o"kZ (D) 1 o"kZ

94. js[kk 3x – 4y = 25 ij ewyfcUnq ls fudVre fcUnq gS&
(A) (–4, 5) (B) (3, –4)

(C) (3, 4) (D) (3, 5)

95. ,d lekukarj prqHkqZt ABCD esa E, CD Hkqtk dk eè;&fcUnq
gS rFkk mlesa BE Hkqtk] AC dks O ij dkVrh gSA rnuqlkj
AO : CO dk vuqikr D;k gksxk\
(A) 2 : 3 (B) 1 : 2
(C) 2 : 5 (D) 2 :1

96. sin4 
θ + cos4 

θ dk vf/dre eku fdruk gksxk\
(A) 1 (B) 2
(C) 3 (D) 4

97. tan 1º. tan 2º...tan 88º.tan 89º dk eku fdruk gksxk\
(A) 2 (B) 4

(C) 1 (D) 0

98. ;fn 
sec +tan

sec – tan

 

 
= 7 + 0 04 3, (0 < θ < 90 ),  gks] rks

sec θ + tan θ dk eku D;k gksxk\
(A) 3 2− (B) 3 2+
(C) 2 3− (D) 2 3+

99. ,d f=kHkqt ABC esa] BC Hkqtk dks D rd c<+k;k tkrk gSA
vkarfjd dks.k∠ B dks le&foHkkftr djds rFkk cká dks.k
∠ ACD dks le&foHkkftr djds E ij tksM+k tkrk gSA
rnuqlkj ;fn ∠ BEC = 400  gks] rks ∠ BAC fdruk
gksxk\
(A) 1400 (B) 1000

(C) 800 (D) 600

100. fn, x, ABC f=kHkqt ds js[kkfp=k esa D mldk ifjdsanz gSA ;fn
∠ DAC = 50º, ∠ DAB = 30º rFkk∠ DBC = xº gks]
rks x dk eku D;k gksxk\

50

3
0

x
0

D

B

A C

(A) 10 (B) 20

(C) 30 (D) 50
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101. Mughal presence in the Red fort ceased with
the fall of ?

(A) Aurangzeb

(B) Muhammad Shah

(C) Shah Alam

(D) Bahadur Shah 'Zafar'

102. Who was the first known Gupta ruler ?

(A) Sri Gupta (B) Chandragupta I
(C) Ghatotkacha (D) Kumaragupta I

103. When water is heated from 0º to 10º, its
volume will

(A) Increase steadily
(B) First increase then decrease
(C) Decrease steadily
(D) First decrease then increase

104. Where is the Bada Imambara located?

(A) Agra (B) Lucknow

(C) Patna (D) Allahabad

105. In violation of the Salt Laws, Gandhiji
started a movement called

(A) Non-Cooperation Movement

(B) Swadeshi Movement
(C) Civil Disobedience Movement

(D) None of above

106. Isotopes may be separated by

(A) Sublimation (B) Filtration

(C) Crystallization (D) Distillation

107. Who succeeded Chandragupta Maurya to the
Mauryan Throne?

(A) Bimbisara (B) Ashoka

(C) Bindusara (D) Vishnugupta

108. 'Charak' was the famous court physician of
(A) Harsha

(B) Chandra Gupta Maurya

(C) Ashoka

(D) Kanishka

109. Gandhiji's movement of boycotting the for-
eign goods aimed at

(A) full independence

(B) creating anti-British sentiment

(C) promotion of welfare state

(D) promotion of cottage industries

110. The Panchayat Raj system in India was
introduced under the direction of which
article of the constitution?

(A) 32 (B) 40

Part - III (General Awareness)

(C) 45 (D) 51

111. Department of Official Language (Raj
Bhasha Vibhag) comes under which one of
the following Ministries ?

(A) Ministry of Culture

(B) Minsitry of Home Affairs

(C) Ministry of Human Resource

(D) Ministry of Information and Broadcasting

112. With respect to Article 371 A of the constitution
of India, the Governor of which one of the
follwoing States has special responsibility
with respect to law and order of the State?

(A) Assam (B) Manipur

(C) Nagaland (D) Andhra Pradesh

113. The Bombay High Court does not have a
bench at which one of the following places?

(A) Nagpur (B) Panaji

(C) Pune (D) Aurangabad

114. The device used for measuring the depth
of the sea is called

(A) Hydrometer (B) Altimeter
(C) Nanometer (D) Fathometer

115. The Nagarjunasagar dam is constructed on
the river

(A) Krishna (B) Chambal

(C) Kosi (D) Sutlej

116. Which one of the following rivers of Penin-
sular India does not join Arabian Sea?

(A) Periyar (B) Cauvery

(C) Narmada (D) Tapti

117. The Loktak Lake on which a hydroelectric
project was constructed is situated in the

State of

(A) Madhya Pradesh (B) Manipur
(C) Meghalaya (D) Himachal
Pradesh

118. Indira Gandhi Rashtriya Udan Academy is

located at

(A) Secunderabad (B) Rae Bareilly

(C) Jodhpur (D) Delhi

119. Radiocarbon dating is a technique used to
estimate the age of fossils. To estimate the
age of the earth, one would employ

(A) Atomic clocks (B) Biological clocks

(C) Carbon dating (D) Uranium dating
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Part - III (lkekU; tkudkjh)

101. yky fdys esa eqxy vfLrRo fdlds iru ds lkFk lekIr
gqvk\

(A) vkSjaxtsc (B) eqgEen 'kkg
(C) 'kkg vkye (D) cgknqj'kkg ̂ tiQj*

102. igyk Kkr xqIr 'kkld dkSu Fkk\

(A) Jh xqIr (B) pUnzxqIr izFke
(C) ?kVksRdp (D) dqekjxqIr izFke

103. tc ty dks 0ºC ls 10ºC rd xeZ fd;k tkrk gS rks bldk
vk;ru

(A) fujarj c<+sxkA (B) igys c<+sxk fiQj ?kVsxk
(C) fujarj ?kVsxk (D) igys ?kVsxk fiQj c<+sxk

104. ^cM+k bekeckM+k* dgk¡ fLFkr gS\

(A) vkxjk (B) y[kumQ
(C) iVuk (D) bykgkckn

105. ued dkuwu ds mYy?kau esa xk¡/hth us ,d vkUnksyu 'kq:
fd;k Fkk] ftldk uke Fkk

(A) vlg;ksx vkUnksyu (B) Lons'kh vkUnksyu
(C) lfou; voKk vkUnksyu (D) miq;ZDr esa ls dksbZ ugha

106. leLFkkfudksa dks fdl fof/ ls iF̀kd fd;k tk ldrk gS\
(A) mèkZikru (B) 'kq¼hdj.k
(C) fØLVyhdj.k (D) vklou

107. pUnzxqIr ekS;Z ds ckn ekS;Z flagklu ij fuEufyf[kr esa ls dkSu
cSBk Fkk\

(A) fcEclkj (B) vk'kksd
(C) fcUnqlkj (D) fo".kqxqIr

108. ^pjd* fdlds njckj esa izfl¼ fpfdRld Fkk\

(A) g"kZ (B) panz xqIr ekS;Z
(C) v'kksd (D) dfu"d

109. xka/hth ds fons'kh oLrqvksa ds cfg"dkj ds vkanksyu dk y{;
Fkk\

(A) iw.kZ Lora=krk

(B) fczfV'k&fojks/h Hkkouk iSnk djuk

(C) dY;k.k&jkT; dks izksRlkgu

(D) dqVhj m|ksx dks izksRlkgu

110. Hkkjr esa iapk;r jkt iz.kkyh lafo/ku ds fdl vuqPNsn ds
funsZ'k ds varxZr 'kq: dh xbZ Fkh\

(A) 32 (B) 40
(C) 45 (D) 51

111. jktHkk"kk foHkkx fuEufyf[kr esa ls fdl ea=kky; ds v/hu
vkrk gS\

(A) laLÑfr ea=kky;

(B) xg̀ ea=kky;

(C) ekuo lalk/u fodkl ea=kky;

(D) lwpuk ,ao izlkj.k ea=kky;

112. Hkkjr ds lafo/ku ds vuqPNsn 371 d ds lUnHkZ esa fuEufyf[kr
esa ls fdl jkT; ds jkT;iky dk jkT; ds dkuwu ,oa O;oLFkk
ds fo"k; esa fo'ks"k mÙkjnkf;Ro gS\

(A) vle (B) ef.kiqj
(C) ukxkySaM (D) vkU/z izns'k

113. cEcbZ mPp U;k;ky; dh] fuEufyf[kr esa ls fdl ,d LFkku
ij dksbZ U;k;ihB ugha gSa\

(A) ukxiqj (B) i.kth

(C) iw.ks (D) vkSjaxkckn

114. og ;a=k ftldk iz;ksx leqnz dh xgjkbZ ekius ds fy, gksrk
gS&

(A) gkbMªksehVj (B) vYVhehVj

(C) uSuksehVj (D) iSQnksehVj

115. ukxktqZulkxj ck¡/ dk fuekZ.k fdl unh ij gqvk gS\

(A) Ñ".kk (B) pacy
(C) dkslh (D) lryqt

116. izk;}hih; Hkkjr dh fuEufyf[kr esa ls dkSu&lh unh vjc
lkxj esa ugha feyrh\

(A) isfj;kj (B)  dkosjh

(C) ueZnk (D) rkIrh

117. yksdVd >hy] ftl ij tyfo|qr~ ifj;kstuk dk fuekZ.k fd;k
x;k Fkk] fdl jkT; esa fLFkr gS\

(A) eè; izns'k (B) ef.kiqj
(C) es?kky; (D) fgekpy izns'k

118. bfUnjk xk¡/h jk"Vªh; mM+ku vdkneh fLFkr gSa

(A) fldUnjkckn esa (B) jk; cjsyh esa
(C) tks/iqj esa (D) fnYyh esa

119. jsfM;ksdkcZu MsfVax ,d rduhd gS tks thok'e dh vk;q
vuqekfur djus ds fy, iz;ksx dh tkrh gSA iF̀oh dh vk;q
Kkr djus ds fy, -------------- dk iz;ksx gksxkA

(A) ijek.kq ?kM+h (B) tSfod ?kM+h

(C) dkcZu MsfVax (D) ;wjsfu;e MsfVax
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120. Among the following, the agricultural sci-
entist who has been awarded a Nobel Peace
prize is
(A) M.S. Swaminathan
(B) Norman Borlaug
(C) S. Chandrashekhar
(D) Hargobind Khorana

121. ‘Gobar gas’ contains in a predominant pro-
portion

(A) Ethylene (B) Methane
(C) Acetylene (D) Carbon dioxide

122. If the movement of the earth's crust or a
major climatic change makes an old stream
young, it is called

(A) consequent stream (B) rejuvenation

(C) subsequent stream (D) aggradation

123. Which of the following metals is generally
mixed with gold in the making of orna-
ments?

(A) Iron (B) Zinc
(C) Silver (D) Copper

124. Winds which reverse their direction with
change in seasons are

(A) Periodic winds (B) Monsoon winds

(C) Polar winds (D) Cyclonic winds

125. Identical twins are born when
(A) two eggs are released at once

(B) one fertilized egg splits into two
(C) two eggs are fertilized separately

(D) release of two sperms that fertilize one egg

126. Who developed the correct model of DNA
structure?

(A) Jacob and Monod

(B) Watson and Crick

(C) H. G. Khorana

(D) Baltimore and Temin

127. Which of these metals pollutes water
heavily?

(A) Arsenic (B) Lead

(C) Potassium (D) Magnesium

128. Which of the following human disease (s) is
(are) caused by a mutant gene?

(A) Hemophilia

(B) sickle-cell anaemia

(C) Thalassemia

(D) All the above

129. What should be given to an athlete for

instant energy?

(A) Carbohydrates (B) Fat

(C) Protein (D) Vitamin

130. Which of the following elements is not
present in stainless steel?

(A) Iron (B) Tungsten

(C) Chromium (D) Nickel

131. Refrigeratiors keep food unspoiled  because

(A) at its low temperature, bacteria and
moulds are inactive

(B) at its low temperature, the germs are killed

(C) at its low temperature, the germs are frozen

(D) it sterilises the food

132. Which of the folowing is the petroleum wax ?

(A) Bees wax (B) Carnauba wax

(C) Paraffin wax (D) Jojoba wax

133. Cloud is colloidal dispersion of

(A) Air in a dispersion medium of water

(B) Fog in dispersion medium of water
(C) Mist in a dispersion medium of air

(D) Water drops in a dispersion medium of air

134. The fourth state of matter is known as

(A) Gas (B) Vapour

(C) Plasma (D) Electrons

135. In the earth’s crust, aluminium is found as

(A) Bauxite (B) Gypsum

(C) Cryolite (D) Native metal

136. High Altitude Warfare School of the Indian
Army is located at

(A) Gulmarg (B) Siachin

(C) Leh (D) Manali

137. What percentage of the total calcium

present in the human body is found in the

blood?

(A) 99% (B) 65%

(C) 35% (D) 1%

138. Which one of the following is named Saras?

(A) A submarine acquired by the Indian Navy

(B) An early-warning radar and communication

system acquired by the Indian Air Force

(C) India's first locally designed civilian
aircraft

(D) An anti-tank missile developed by India

139. Which of the followings is not considered as
national Debt?

(A) National Savings Certificates

(B) Long-term Government Bonds

(C) Insurance Policies

(D) Provident Fund
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120. fuEufyf[kr esa og Ñf"k oSKkfud ftUgsa ukscsy 'kkafr iqjLdkj
fn;k x;k gS&

(A) ,e- ,l- LokehukFku (B) ukeZu cksjykWx
(C) ,l- pUnz'ks[kj (D) gj xksfoUn [kqjkuk

121. xkscj xSl esa] izeq[k vuqikr esa mifLFkr gksrh gS&

(A) ,fFkyhu (B) esFksu
(C) ,lhfVyhu (D) dkcZu&Mkb&vkWDlkbM

122. ;fn iF̀oh dh iiZVh dh xfr ;k eq[; tyok;q ifjorZu ò¼
lfjrk dks ;qok cuk nsrk gS] rks bls D;k dgrs gSa\

(A) vuqorhZ lfjrk (B) iqu;qZou
(C) ijorhZ lfjrk (D) ryksPPku (,sxzsMs'ku)

123. fuEufyf[kr esa ls dkSu lh /krq vkerkSj ij vkHkw"k.kksa dks
cukus ds fy, lksus (Gold) ds lkFk fefJr dh tkrh gS\

(A) yksgk (B) ftad
(C) pkanh (D) rkack

124. fuEufyf[kr esa ls os iou dkSu&ls gS tks Írqvksa ds ifjorZu
ds lkFk&lkFk viuh fn'kk cny ysrs gS\

(A) vkorhZ iou (B) ekulwuh iou
(C) /zoh; iou (D) pØokrh iou

125. ml fLFkfr esa ,d tSlk tksM+k iSnk gksrk gS] tc

(A) rqjUr nks v.Ms fn, tkrs gSa

(B) ,d fu"ksfpr v.Ms ds nks VqdM+s gks tkrs gS
(C) nks v.Mksa dk fu"kspu vyx&vyx fd;k tkrk gSA
(D) NksMs+ x, nks LieZ ,d v.Ms dk fu"kspu djrs gSA

126. Mhú ,uú ,ú ljapuk dk lgh ekWMy fdlus cuk;k Fkk\

(A) tSdc vkSj eksuksM (B) okVlu vkSj fØd
(C) ,pú thú [kqjkuk (D) ckfYVeksj vkSj Vsfeu

127. fueufyf[kr esa ls og /krq dkSu&lk gS tks ikuh dks
vR;f/d iznwf"kr djrk gS\

(A) vklsZfud (B) lhlk
(C) iksVkf'k;e (D) eSxzhf'k;e

128. fuEufyf[kr esa ls og@os ekuo jksx dkSu&lk@dkSu&ls gSa tks
mRifjorhZ thu }kjk iQSyrk gS@iQSyrs gSa\

(A) gheksfiQfy;k (B) nk=k dksf'kdk vjDrrk
(C) FkSysfl;e (D) mi;qZDr lHkh

129. fdlh ,FkyhV dks rkR{kf.kd mQtkZ ds fy, fuEufyf[kr esa ls
D;k fn;k tkuk pfkg,\

(A) dkcksZgkbMªsV~~l (B) olk
(C) izksVhu (D) foVkfeu

130. LVsuysl LVhy esa fuEufyf[kr esa dkSulk rRo ugha gksrk\

(A) vk;ju (B) VaXLVu
(C) Øksfe;e (D) fudy

131. jsfizQtjsVj [kk| inkFkksZa dks [kjkc gksus ls cpkrs gSa D;ksafd

(A) blds U;wu rkieku ij thok.kq vkSj iQiQawnh fuf"Ø; gksrs gSa
(B) blds U;wu rkieku ij jksxk.kq ej tkrs gSa
(C) blds U;wu rkieku ij jksxk.kq te tkrs gSa
(D) ;g [kk| inkFkksZa dks jksxk.kqjfgr dj nsrk gSA

132. fuEufyf[kr esa ls dkSu&lh isVªksfy;e ekse gS\

(A) e/q&ekse (B) dkuksZck ekse
(C) iSjkfiQu ekse (D) tkstksck ekse

133. ckny fdldk dksykWbMh ifj{ksi.k gS\

(A) ty ds ifj{ksi ekè;e esa ok;q
(B) ty ds ifjis{k ekè;e esa dqgjk
(C) ok;q ds ifj{ksi ekè;e esa dqgklk
(D) ok;q ds ifj{ksi ekè;e esa ty fcanq

134. inkFkZ dh pkSFkh voLFkk D;k gksrh gS\

(A) xSl (B) ok"i

(C) IykTek (D) bySDVªkWu

135. iF̀oh ds dsUnz esa mifLFkr inkFkZ esa ,Y;wehfu;e ik;k tkrk
gSA

(A) ckDlkbM ds :i esa (B) ftIle
(C) Øk;ksykbV (D)usfVo esVy

136. Hkkjrh; lsuk dk gkbZ vkWYVhV;wM okWjiQs;j Ldwy dgk¡
vofLFkfr gS\

(A) xqyexZ (B) fl;kfpu
(C) ysg (D) eukyh

137. ekuo 'kjhj esa mifLFkr dSfY'k;e dh dqy ek=kk dk fdruk
izfr'kr jDr esa ik;k tkrk gS\
(A) 99» (B) 65»
(C) 35» (D) 1»

138. fuEufyf[kr esa ls lkjl fdldk uke gS\

(A) Hkkjrh; ukSlsuk }kjk vf/xzg.k dh xbZ iuMqCch

(B) Hkkjrh; ok;qlsuk }kjk vf/xzg.k fd;k x;k iwoZ&psrkouh
rFkk lapkj ra=k

(C) Hkkjr }kjk izFke Lons'kh vfHkdfYir ukxj foeku

(D) Hkkjr }kjk fodflr Vad&fojks/h iz{ks"k.kkL=k

139. fuEufyf[kr esa ls fdldks jk"Vªh; Í.k ugha ekuk tkrk\

(A) jk"Vªh; cpr i=k (B) nh?kZof/ ljdkjh ckW.M
(C) chek ikWfylh (D) Hkfo"; fuf/
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140. The main determinant of real wage is

(A) extra earning

(B) nature of work

(C) promotion prospect

(D) purchasing power of money

141. With regard to a solution, the term ‘pH’
denotes its

(A) Acidity or basicity
(B) Ionic strength
(C) Temperature

(D) Vapour pressure

142. Tear gas used by the police to disperse the
mob contains

(A) carbon dioxide (B) Chlorine

(C) ammonia (D) hydrogen sulphide

143. Correct expansion of the term 'http' in
Internet address is

(A) higher text transfer protocol

(B) higher transfer text protocol

(C) hybrid text transfer protocol

(D) hypertext transfer protocol

144. C.R. Das and Motilal Nehru formed the
‘Swaraj Party’ after,

(A) Swadeshi Movement

(B) Non Cooperation Movement

(C) Civil Disobedience Movement

(D) Quit India Movement

145. The abnormal constituent of urine is :

(A) urea

(B) creatinine

(C) albumin

(D) sodium

146. The writ of ‘Habeas Corpus’ is issued in the
event of :

(A) Loss of Property

(B) Refund of Excess Taxes

(C) Wrongful Police detention

(D) Violation of the freedom of speech

147. The world's highest 'Rail Bridge' is being
constructed in the State of Jammu &
Kashmir. This bridge will be on which of
the following rivers?

(A) Jhelum
(B) Chenab

(C) Indus
(D) Ravi

148. Which of the following films was NOT
directed by Mani Kaul, who died recently?

(A) 3 Idiots
(B) Ghashiram Kotwal

(C) Roti
(D) Duvidha

149. Who amongst the following  has become the
Chief Minister of a State in India third time
consecutively?

(A) Tarun Gogai

(B) Nitish kumar

(C) J. Jayalalita

(D) Mamta Banerjee

150. The Govt., which of the following states has
agreed to give captive miners of iron ores
to all the companies, who are willing to
establish plants there ?

(A) Bihar

(B) Jharkhand

(C) Punjab

(D) West Bengal
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140. fuEufyf[kr esa ls fdldks okLrfod etnwjh (osru) dk
izeq[k fu/kZjd dgk tkrk gS\

(A) vfrfjDr vkenuh (B) dk;Z dh izÑfr
(C) inksUufr dh lEHkkouk (D) eqnzk dh Ø;&'kfDr

141. foy;u ds lanHkZ 'pH' mldh ------------- iznf'kZr djrk gS&

(A) vEyh;rk ;k {kkjh;rk (B) vk;fud etcwrh
(C) rkieku (D) ok"inkc

142. HkhM+ dks frrj&fcrj djus esa iqfyl }kjk bLrseky dh tkus
okyh vJq&xSl D;k gksrh gS\

(A) dkcZu MkbvkWDlkbM (B) Dyksjhu

(C) veksfu;k (D) gkbMªkstu lYiQkbM

143. bUVjusV ds ir esa in http dk lgh foLrr̀ :i gS
(A) higher text transfer protocol

(B) higher transfer text protocol

(C) hybrid text transfer protocol

(D) hypertext transfer protocol

144. lhs- vkj- nkl vkSj eksrh yky usg: us ̂ Lojkt ikVhZ* cukbZ
Fkh %
(A) Lons'kh vkanksyu ds ckn
(B) vlg;ksx vkanksyu ds ckn
(C) lfou; voKk vkanksyu ds ckn
(D) Hkkjr NksM+ks vkanksyu ds ckn

145. ew=k dk vlkekU; ?kVd gS%
(A) ;wfj;k (B) fØ,fVfuu
(C) ,sYC;qfeu (D) lksfM;e

146. fuEufyf[kr esa ls fdl fLFkfr esa ̂ canh izR;{khdj.k fjV&tkjh
dh tkrh gS\

(A) lEifÙk dh gkfu

(B) vfrfjDr dj okilh

(C) nks"kiw.kZ iqfyl utjcanh

(D) Hkk"k.k dh Lora=krk dk mYya?ku

147. fo'o ds lcls Å¡ps jsy iqy dk tEew vkSj d'ehj esa fuekZ.k
gks jgk gSA ;g iqy fuEufyf[kr esa ls fdl unh ij gS\

(A) >sye (B) psukc

(C) baMl (D) jkch

148. gky gh esa fnoaxr ef.k dksy us fuEufyf[kr esa ls fdl fiQYe
dk funsZ'ku ugha fd;k Fkk\

(A) 3 bfM;V~l (B) ?kklhjke dksroky

(C) jksVh (D) nqfo/k

149. fuEufyf[kr esa ls dkSu&lk lrr~ rhljh ckj fdlh jkT;
eq[;ea=kh cuk gS\

(A) r:.k xksxbZ (B) uhrh'k dqekj

(C) ts- t;yfyrk (D) eerk cuthZ

150. fuEufyf[kr esa ls fdl jkT; dh ljdkj ogk¡ la;=k LFkkfir
djus dh bPNqd lHkh daifu;ksa dks ykSg v;Ld dh vkc¼
[kkus nsus ds fy, lger gqbZ\

(A) fcgkj (B) >kj[kaM

(C) iatkc (D) if'pe caxky
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Part - IV (English Comprehension)

Directions: (Q. No.151-155): Some of the
sentences have errors and some have non. Find

out which part of a sentence has error and
blacken the rectangle corresponding to the

appropriate letter (A), (B), (C). If there is no error,

blacken the rectangle corresponding to (D) in
the answer sheet.

151. (A) The traveller being weary/ (B) he sat by
/(C) woodside to rest. / (D) No error

152. (A) He did not / (B) and could not have
understood/ (C) the full facts of the case ./

(D) No error

153. (A) The constant shouting of slogans / (B)

do not solve/ (C) the problems of the

country./ (D) No error

154. (A) He has overworked/ (B) and this seems

to have/(C) effected his health./ (D) No error

155. (A) They treated us/ (B) not even to cocktails/

(C) but also to dinner./ (D) No error

Directions (156 - 160): In the following

questions a sentence is given. Below are given
alternatives  (A), (B), and (C) and  (D) that can

substitute the sentence. Choose the correct

alternative.

156. The highest point

 (A) zenith (B) height

 (C) zeal (D) ridge

157. Feeling inside you which tells you what is
right and what is wrong :

(A) cleverness (B) conscience

(C) consciousness (D) fear

158. An abandoned child of unknown parents
who is found by somebody.

(A) Foundling (B) Sibling

(C) Urchin (D) Orphan

159. A post with little work but high salary

(A) Director (B) Trustee

(C) Sinecure (D) Ombudsman

160. Violent storm:

(A) weather (B) rains

(C) breeze (D) tempest

Directions: (Q. No.161-165): A part of the
sentence is underlined.Below a given

alternatives to underlined part at (A), (B), (C)

which may improve the sentence. Choose the
correct alternative.In case of no improvement,

your answer is (D).

161. He died of a wound and not from cancer.

(A) from a wound and not of cancer

(B) a wound and not from cancer

(C) from a wound and not from cancer

(D) No improvement

162. He insisted on he was innocent.

(A) insisted on that (B) insisted  that

(C) insisted (D) No improvement

163. We should be bound by a code of conduct,

isn't it?.

(A) shouldn't we? (B) is it?

(C) aren't we? (D) No improvement

164. You should avoid to make such silly

mistakes.

(A) avoid making

(B) avoid to have made

(C) avoid make

(D) No improvement

165. The mother could not help but cry at his

behaviour.

(A) crying (B) cry

(C) but crying (D) No improvement

Directions (166-170): In the following

questions, sentences are given with blanks to

be filled in with an appropriate and suitable

word. Four alternatives are suggested for each

question. Choose the correct alternative out

of the four i.e. (A), (B), (C), (D).

166. The lawns_____with velvet grass.

(A) are laid (B) are lain

(C) were lain (D) laid

167. Nobody could have ____ the future correctly.

(A) forecast (B) forecasted

(C) forcast (D) predict

168. He was going ____ the newspaper.

(A) over (B) through

(C) about (D) on

169. Here, he _____  .

(A) comes (B) is coming

(C) came (D) was coming

170. He was looked _____ well by his son.

(A) for  (B) after

(C) into  (D) up

Directions (171-175): Groups of four words are

given. In each group one word is correctly spelt.

Find the correctly spelt word and mark it in

your answer-sheet.

171. (A) cudgels (B) cudgles

(C) cudggels (D) cuddgels

172. (A) conoisseur (B) connoisseur

(C) connoiseur (D) connoiisseur

173. (A) dilinquent (B) delinquent

(C) delinquentt (D) dellinquent
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174. (A) promisscuous (B) promisccuous

(C) promiscuouss (D) promiscuous

175. (A) quagmirre (B) quagmmire

(C) quaggmire (D) quagmire

Directions: In questions no. 176 to 180, out of

the four alternatives, choose the one which best

expresses the meaning of the given word and

mark it in the answer sheet.

176. Vindictive

(A) Imaginative (B) Accusative

(C) Spiteful (D) Aggressive

177. Impeccable

(A) Perfect (B) Fair

(C) Faultless (D) Criminal

178. Lousy

(A) Unbearable (B) Awful

(C) Loose (D) Stinking

179. Collusion

(A) A conflict

(B) A secret agreement

(C) A consultation

(D) A misunderstand

180. Solicit

(A) Command (B) Request

(C) Sympathize (D) Agree

Directions: In questions no. 181 to 185, choose

the word opposite in meaning to the given word

and mark it in the answer sheet.

181. Potent

(A) Inefficient (B) Soft

(C) Fragile (D) Weak

182. Probity

(A) Dishonesty (B) Timidity

(C) Treachery (D) Insincerity

183. Gregarious

(A) Recluse (B) Social

(C) Laudatory (D) Rustic

184. Sporadic

(A) Surviving (B) Sweeping

(C) Restrained (D) Continual

185. Protean

(A) Amateur (B) Catholic

(C) Unchanging (D) Rapid

Directions : In questions 186 to 190, four  alter-

natives are given for the idiom/ phrase underlined

in the sentence. Choose the  alternative which

best expresses the meaning of the idiom/phrase

and mark it in the Answer Sheet.

186. Turn out crabs

(A) end in failure

(B) to be successful

(C) to bring up crabs

(D) to be victorious

187. Devil's advocate

(A) an advocate of a devil

(B) an advocate like a devil

(C) discussion of an advocate

(D) one who is against religion

188. Plough a lonely furrow

(A) work singly handedly

(B) plough the field

(C) plough the sands

(D) work with a furrow

189. Tread on one's toes

(A) to give offence

(B) walk on toes

(C) tread with toes

(D) flatter someone

190. Talk shop

(A) talk about shop

(B) talk in shop

(C) talk business

(D) talk

Directions (191-200): In the following passage,

some of the words have been left out. First

read the passage over and try to understand

what it is about. Then fill in the blanks with

the help of the alternatives given. Mark your

answer in the answer-sheet.

Books give us all the information ...191... a man.

They show  ...192... interest. They are the...193...

to his mind. All the riches of the world ...194...

their importance in the face of the book. A man

with money and ...195...books is a poor man.

Books have become so cheap that a library can

...196... be made. Money spent on good books is

never ...197...It is  ...198...to read good books

.Books can give a man both...199...and...200....

191. (A) about (B) for

(C) through (D) from

192. (A) their (B) his

(C) that (D) personal

193. (A) road (B) accesss

(C) index (D) approach

194. (A) lose (B) loose

(C) fade (D) vanish

195. (A) some (B) with

(C) few (D) without

196. (A) easily (B) scarcely

(C) hardly (D) frequently

197. (A) recovered (B) wasted

(C) justified (D) withdrawn

198. (A) plessure (B) good

(C) addiction (D) obsession

199. (A) efficiency (B) skill

(C) cunning (D) knowledge

200. (A) pleasure (B) wisdom

(C) happy (D) love
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ROUGH WORK


